Graphing Sets and Performing Set Operations on Number Lines

e.g. : Given the; intervals: A= fxé??\ % x?-(az
| Bs {vepr| yex <8

Perform the following set operations: A’ \ B

Graph the detailed solution below.
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Give your answer in interval form: ., . 5 r
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Give your answer in se.t builder notation: __ § K £ K X Ll' L
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Perform the following set operations: A N\, B

Graph the detailed solution below.

Give your answer in interval form: — 0, | [.

(Give your answer in set-builder notation: z X € ’? \ X & \?}
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B = f%ER\ o&x<4{

Perform the following set operations:  f' \ R

Graph the detailed solution below.
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Give your answer in interval form: ~0. 0 j:

Give your answer in set-builder notation: j\ ¥ £ \@ ‘\ X < DK
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Perform the following set operations: A NG
Graph the detailed solution below.
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Give your answer in interval form: 1 3 3 S]

Give your answer in set-builder notation: g X £ \@ \ 3 < X < Sz
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Perform the following set operations: AN C,}

Graph the detailed solution below.
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Give your answer in interval form: ] \ 3 l"?
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Give your answer in set-builder notation: g ¥ é‘ [Q \‘ ‘ < X



You try:
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Perform the following set operations: A N (‘_'

Graph the detailed solution below.

S e s i o e, g

| I
I !
=% wB® -2 -\ B \ 2 3B

Give your answer in interval form: ] 0 5 3—1

Give your answer in set-builder notation: § ¥ £ \R\ 0< % & 32
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e.g. A= -1 4] - B =]o.3]
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Graph the detailed solution below.

e S

(Give your answer in interval form: ‘ J 0 b ST_(

Give your answer in set-builder notation: { X & \@ 1 (P & Sg




You try:

L. Given the intervals: A = ]-3 , 5] B=]o,yY and
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Graph the detailed solution below.
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Give your answer in interval form: 1 5 (a_l

Give your answer in set-builder notation: { ¥ E \R\ O< X f’-(a?
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You try:

2. Given the intervals: A = ™ < E] B = ]-1,1] and
e |
C = 1 i ‘—b’
A
(AnB)uUC

Graph the detailed solution below.
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Give your answer in interval form: ’1 ik ) S‘l

Give your answer in set-bujlder notation: Z Y Qﬁ \ 5 \ = X é." S?
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Perform the following set operations: (p\\)gj ~ 8

Graph the detailed solution below.
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Give your answer in interval form: — 0y —\ T_

Give your answer in set-builder notation: 5 ¥ E \‘ﬁ \‘ g & = \z



. Perform the following set operations: (Pt Uc) \ B

~ Graph the detailed solution below.
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Give your answer in interval form: TH W0 ~ . E

Give your answer in set-builder notation: gv( £ \ﬂ \ ¥ L - 2_1



Perform the following set operations: (AVOON B

Graph the detailed solution below_.

Give your answer in interval form: ik =y L
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Give your answer in set-builder notation: ? v £ lﬁ l W & "\?



